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Materials


Instructions

· Use black ink or black ball-point pen. Draw diagrams in pencil.

· Fill in the boxes at the bottom of this page.

· Answer all questions.

· You must answer the questions in the space provided. Do not write outside

the box around each page or on blank pages.

· Do all rough work in this book. Cross through any work that you do


not want to be marked.

· In all calculations, show clearly how you work out your answer.

Information

· The marks for questions are shown in brackets.

· The maximum mark for this paper is 60.

· You may ask for more answer paper, graph paper and tracing paper.

These must be tagged securely to this answer booklet.


	Answer all questions in the spaces provided.

	1
(a)
Work out         579 + 163

[1 mark]
Answer

1
(b)
Work out         872 ( 345

 [1 mark]
Answer



	1
(c)
Work out         315 ( 8

[1 mark]
Answer

1
(d)
Work out         785 ( 5

 [1 mark]
Answer



	2
Equivalent fractions have the same value.


Put different numbers in the boxes so that all the fractions are equivalent. 

[3 marks]

3


Complete the following sentences.

[3 marks]



Angle                       is a right angle.


Angle                       is smaller than a right angle.


Angle                       is bigger than a right angle.



	4
The pictogram shows how students travelled to school one day.


The first three rows have been completed.

Walk


Bus


Car


Cycle


Key:          :        =  2 students
4
(a)
How many students travelled to school by bus?
[1 mark]

Answer

4
(b)
3 students cycled to school. 



Complete the pictogram above.
[1 mark]

4
(c)
Which way of travelling to school was the most popular?
[1 mark]
Answer



	5
Complete the grid so that

· every row of five number adds up to 11
· every column of five numbers adds up to 11

· only the numbers 1, 2 and 3 are used in the grid.


Use this grid for practice.





Put your answer in this grid. 


[4 marks]


	6
Amina has £5 pocket money.


She saves one-quarter of this pocket money.



Amina says


Is she correct?


You must show your working.
[3 marks]
7
List the first five multiples of 6



[2 marks]

Answer




	8
Work out         5.2 ( 7

[2 marks]

Answer

9
Put these numbers in order, starting with the smallest.


[3 marks]
0.4
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0.15
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Answer




	10
(a)
Draw a triangle with no obtuse angles.
[1 mark]

10
(b)
Draw a triangle with one obtuse angle.
[1 mark]

10
(c)
Why can you not draw a triangle with two obtuse angles?
[1 mark]
11
Ben asked twenty adults how many people live in their house. 


Here are his results. 

3

2

6

2

4

2

4

4

1

4

2

1

4

5

2

4

2

3

1

2

11
(a)
Complete the tally chart to show the data.
[3 marks]
Number of People

Tally

Frequency

1

2

3

4

5

more than 5

Total
20
11
(b)
Which number of people is the mode?
[1 mark]
Answer




	12
Here are three solid shapes.


Each solid shape is shown from above and from the side.


Write down the name of each solid shape. 
12
(a)

From above

From the side

[1 mark]

Answer

12
(b)

From above

From the side


[1 mark]

Answer

12
(c)

From above

From the side

[1 mark]

Answer



	13
What fraction of each shape is shaded?


Give your answer in its simplest form. 


13
(a)

[1 mark]

Answer

13
(b)

[2 marks]

Answer



	14
(a)
Work out the size of the angle marked x.
[2 marks]
Answer

degrees
14
(b)
Work out the size of the angle marked y.
[2 marks]

Answer

degrees



	15
A newsagent counted how many magazines he sold for 5 days.

54
68
50
62
56


What was the mean number of magazines he sold?
[3 marks]

Answer

16
Which is bigger?
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1
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You must show your working.
[2 marks]
Answer



	17
(a)
Use a protractor to measure the angle below. 
[1 mark]

Answer

17
(b)
Draw an angle of 100(
[1 mark]
Turn over for the next question



	18
A television programme starts at 7.30 pm


It lasts for 105 minutes.


What time does it end?


[2 marks]

Answer

19
(a)
How many lines of symmetry does an isosceles triangle have?
[1 mark]

Answer

19
(b)
How many lines of symmetry does an equilateral triangle have?
[1 mark]

Answer

20
Work out         
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3

 + 
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Give your answer as a fraction in its simplest form. 

[2 marks]
Answer

21
Jake is doing a sponsored walk of 6
[image: image8.wmf]4

1

miles.


He has walked 3
[image: image9.wmf]2

1

miles.



How far does he have left to walk?
[3 marks]

Answer

miles
END OF QUESTIONS
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For this paper you must have:
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Please write clearly, in block capitals.
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